Fakor 11 BRI (2)
1993-2-16, 12:45~14:25
by E. Yamazato

1. (30) B 112/ g & S IT R Y 7z & o THRRHHAYE R 400mm, K& 1.83km D (k=1.3mm)
ZBMUTR Y212 300L/s E5NTWD, A MODEN%E 13.5kPa & T HIXKR Y TOH I IE WL
52750, £72 B HOEHIEWL &2, 2720, BEHHOLLE S X CERE AR, Z2hEh
0.86,5.2mm?/s Tdh 5, FTIEEBIEIUANDELIZTHET 5,

2. (25) M 2 D& Sz, HE 0.9 OFifh%E 401/s kB RV THRH O, BHESPYNDE Z eIk
AENT 350mmHg DI KAFEZETEZ N TES, BABFTKOBERIE 203mm T, AR
HEIZIEA ML —F (G =10). TIFK (G = 0.2). # (¢ = 0.35) D2V TW5D, KLLMD
760mmHg @ & EHRAMVIAAEE 7z Ked &, EEBELRHIZ 0.03 235,

3.(25) M3 IART LR ODOMBELVHINT 2HBERALICT 57200 21,20 DHERD
Ko 7 UNE & S EBEBRRRL 0.02 & LEhDSLOEKITBRVWED LT 5,

4. (10) M 4 \ZR T 3AECHBEMIIZIENETNALI—1 OREZHEL T H 2 =20 THRYE,
R UERITEEBRLOA L T 5,
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T ord?

d
= 238m/s, R.= = =183x 10°
14

Qx> <

= 0.00325, X = 0.028(Moody diagram)

1830  2.382
h; = 0.028—— x

= 37.02
04 * 2g mn

13.5 x 103
H, = 02— ———— =9041
p =905+ 37.0 0.86 x 10% 90.41m

L = pgQH, = 860g x 0.3 x 90.4 = 228.57kw
pB = pa + pgH, = 13.5 x 10° + 860g x 90.41 = 775.4kPa

Ps L oro05+m=22105
pg pg

2
b= (G Gt G+ AT 15
_4Q
- d}
Pa—ps (760 —350) x 1073 x 13.6 x 10%°g

g 0.9 x 103¢
z+0.95+0.0115z =6.195, =z =15.18m

vy =1.23m/s, h; =0.95+0.0115z
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